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UfuwGGph ntnndwa pwdlh hwiwwwwnwufuwb
qwlnwynid wlhpwdtn £ G6) thnfuJwéd wwwnmwufuwGGtph
pwbwyp:

Qlwpninpl wlhpwdbiun . (pwgllb]  fulbwdpny
nLpwnpnipjwip hbGnbGiny ytGpnhhzjwp gnignidGGph:

vnrInEPILEN 64 SNESNFULGN

LUbwywh pGunh pninp wnwownpwbplbph Ywwnwpnidp
066 npwnpnepynil £ wwhwGoned:

Unwownpwlph wwhwbpp @hpn hwulwlwint hwdwp
wbhpwdtiun £ Gwfu niwnhp Ywpnwp wjlb, www wGglbp ghown
wwwnwufuwbh pGunpnepjwln:

3hotp, nn wnwowplynn wwwnmwuhuwbbtphg dhw)ba deya k
wnwownpwlph dhon wwwnwufuwbn, dynwulbpp’ ufuwg:

wydh  wnbp, np  wnwownpwlpltGpp dh nbwpnld
wwhwpntd GG  nput  phpnnnepynth Shpin GEpluywglnn
wnwppbpwyp qunlGb], Gnwu nbwpnid upuwip: Hpw hwdwp Gh
wnwownpwlphg Gjntupb waglbhu tntip nLpwnhn:

Uyfuwwnbip fubjwdhwn oquwgnnétp dwdwlwyp: @Guwnp
Ywuwwnbint hwdwp dbGq uwhdwGwihwy dwdiwlwy bt wnpynod:
LPwlh np wnwownpwbpltpt hpbhg pGnypnd wmwppbp GG L
Yuwwwpiwb hwiwp nwppbp dwdwbwy G0 ywhwbnid, wtwp £
Ywpnnwlwp dwiwlwyp Ghown pwfuti:

dwiwlwy dh Juuwnlbtp Gpywp dnwébind wyl hwpgbph
2nLng, npnlg sbp Juwpnn wadhowwbu wwwnwufuwbb):

Uwuwwpbp wjd  wnwownpwlpltpp, npnlg  wwuwnwu-
fuwGGGpp hwuwnwwn ghwntip: Unwbtiu nnip wybtiinpn dwiwbwy sbp
Jwuwnbh, sbp Yynpglh dwiwbwyh ggqwugnnnipjnilp L pbuwnp atip
hdwgwd djntu hwpgbpht wwwnwufuwbGine hGupwynpnipynibn:
Gpp ywwnwufuwbbp dGp hdwgwé pninp hwngtiphl, yGpwnwpébp
pwg pnnwdé wnwownnwOplGpha:

Gpp wmbulnud Gp, np dwiwlbwyp dnnGlnd £ wjwpuwnhb, L
nnip Juwnwh sghnbp  wnwownpwlph 8hn  wywwnwufuwlp,
plwnptip &tp Ywpédhpny wnwyb] hwywbwywlp: 3h6p, np pb’
wwwwufuwbp sG26 e L pb" ufuw] Wwwnwufuwbh nbwpnid nnip
wwpqwuwbu dhwynp sbp unwOnud: Pwyg hGwpwynp £, np &bip
Juwulwdébbpt whhpdb [p0GG, L wnwdb] hwjwlwlywb pugnn
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hwGdGnnh  pOwpwé wwwwufuwbp  hwdpGylnd £ Ghown
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Unwownpwlpbtpp  Jwwwnpbtin,g hGwnn  pGGanipnth
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pllnipjwl pbunh wwuwwuhuwGGtph dLwpninpp uwnnigynid
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UGgltptth  wbwwlwl wdwpunwlywb L dhwulwywb
pGOnipjwl  pGunnh  wnwownpwOpltph  Juwwwpiwl hwdwn
Gwhuwwnbuynid £ ghnbihpltph hGunlbyw] Swywp.

PwnwlwaqinLpjnth
USswhgnid L pwnwpwnpnnid, whqtptah wnwyb] nmwpwéywsd
gnjulwlwytpun, wéwlwlwytpwn, pywlywlwybipw,

Guwlypwjwytpw, pwjwlwb YGpowdwbgltip L Gwhuwdwbgltin:

QQuuwpwblnip)nih

Qnjulwb wandch. phy, hnpny:

3nn. wlnpny, npn2jwy, qnpn hnn:

Uswlwl wlnib. wéwywbh hwibdwwnnipjwl wunhdwGbtnp,
Jwqguinipjwl wnwbdbwhwwnynipntGGbpp, hwabdwwnwlywb
Ywrnigywéplbinp:

PYwlywb winch. pwlwlywywb L nwuwywb pywlwbGtn:

NpwOnlb.  wodwlywh, uvnwgwywl, gnigulywl, whnpny,
npn2jw], dfunnwlwl, hwpgwlwh, hwpwpbpwywb, winpwnwpd,
thnfuwnuwpé:

Pwj. pwh hpdGwywb dubpp, YwbnGwynp b wlywbnb pw)tbp,
wOgnnuywb L wbwbgnnuywb pwytin, [hhdwuwn pwjtin, odwlnuwy
pwjtin L pwj-hwbqnig:

Pwjh dwdwbwyhtpp (Present, Past, Future, Future in the Past)
L dwiwbwlywjhh fudptipp (Indefinite, Continuous, Perfect, Perfect
Continuous): dwiwlwyGtph hwdiwdw)lbgnLad:

Pwjh GnwlOwyp (Indicative, Imperative, Subjunctive), pwjh
utinp (the Active Voice, the Passive Voice).

Fwjh wlnbd dukpp (Infinitive, Gerund, Participle |, Participle 11):

Gnwlwlwynpnn  pwytip. hdwuwnbbtplG no gnpdwénipyniln
(can/could, may/might, must, hGswtiu Gwl need, to be able to, to
have to, to be to, should, need, ought to):

Uwypuwy. dwlpwyjh inbuwybbpp, hwditdwwnnipjwb
wuwnhdwOGGpp, Jwginipjwl wnwbdbwhwwnynipntGGGpp:

Lwfunhp. GwfunhpGGph gnpéwénip)nGhG puwn hdwuwnh:
Cwnywuy. hwiwnwuwywl L unnpwnuwuwlwb wnyuwbtn:

Cwpwhjnruntpjnih

Lwfuwnwunipjwl whwtnpt pun Juqgonipjwl. wwpq
(hwdwnnunn L plnwpdwly) GwpuwnwunigntGGGp,  pwpn
(hwiwnwuwlwb L unnpwnwuwywb) GwfuwnwunipynLbGGtn,
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MGwnwywl wdwpunwlwb L Jdhwulwywb  pGanepjwl
pbGuwnntd  plngpywé  wnwownpwlpbtiph  wwwnwufuwGGaGpp
Godned G0 hwiwwwwnwufuwb duwpnentd:

Quwpninpp [pwgyned £ dhwyla ule gt wiha qphgny:

Unwownpwlpltpntd  plngpywé GO Ghpwwnwown-
pwlpGtp: @YLpny Gowé b nw wnwownpwbpnid plngpyywé
Ghpwwnwownpwlph hGppwlwl hwdwpp, huly  wwebpnd
wywwnwufuwbbbph wmwppbpwybtpp (8 b, ¢, d): 3nipwpwlsjnin
Gopwwnwownpwlph wwuwwufuwl wtwp Lt gpbp  npwa
hwiwwwwmwupuwbnn  pdh  wnilwynd (@, 2, 3, 4..)
hwiwwwwnwufuwb tnwnh nhdwg:

Utuwdbint  nbwpnid  pGGnipyntG hwGdbnnp  hGwpw-
gnpnipjnth nibh Ywwwnbp 3 ninnnud U dwywpnwynd L 2
ninnnid P dwlwpnwyned: AunnnudbGGph hwdwp GwuwnGujwé
hwwnywénd Jbapbh 2 066 JwlnwylGbpnd gpynd £ wyl
GOopwwnwownpwlph hwdwpp, nnh WwwnwufuwbGG ninnyned t:

OphbGwy, Gpt wwuwwufuwbGGbph ALwpnpnd  Bhown
tnwpptipwyp thnfuwpbb vfuwpdwap Gpdb £ b mwpptpwyp, www
ufuwlGBpph nunnOw0 pwdlnid Ghpn wwwnwufuwlp wbwp £ Godh
hGunljw| duny.
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glfuwynp L Gpypnpnwywb GwfuwnwunipjntGGp, Gpypnpnwyw
Gwfuwnwuntpjw( inhwbinp: Lwfuwnwuntp)nLbbtph
nwuwlywngnil pun Guwuwyh (Wwundnquywb, hwpguyw,
drunwlwl) L npwlg wpwnwunipnilp:  Lwhuwnwunipjw
glfuwynp L Gpypnpnwywa wlnwubtn: Ulnba
Gwfuwnwuntp)nLGGtn: Swnpgwywhb Owfuwnuwuncp)nibGbph
inhwtinp (General, Special, Alternative, Disjunctive): Ghpwlwjih L
unnpngjwih hwdwdw)bGtgnLy:

Ninnwyp L wlntnnuyp funup, Ywqintpjwl
wnwbOdGwhwwnynipjntGabpp:
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@PGUSh Luuruarre
U dwlywpnuwy
I. Ywpnuwp mbpunp b yuwnwufuwbtp hwpgbpha® pGupbing
dh2wn mwpptpwyp:

Unwownpwbpntd wnpdwé £ nbpuwn: Un wnwownpwlpny
(nGupnygh wWwwnwufuwGObph dtpnnny)  uwnniqynid GG
2npwlwdwpwp  gpwynp - funuph  pOYwincdp,  Yuwwlgqwo
inbpunnh  pnulnwynipjnibp  hwulwOwine  Ywnpnnnipynilbn:
SpJwdé hwnpgbipnd uinnigynid G0 nbpunh hhdlwywb dhwnpp L
hdwuwnp pdpnGGint YwpnnnipntGGGpp, Gwfuwnwunipjwl Ghwnpp
L pwntpp hwulwOwnt 2powbwywnuinp ntGwynipynibn:

Line number
September is the ninth month of the year. However, the
word September comes from the Latin word septem, which
means “seven.” Thisis because long ago a different
calendar was used in which September was indeed the
seventh month.
When Julius Caesar, leader of Rome, changed the
calendar, he made September the ninth month.
September is atime of change. With autumn and winter
approaching, temperatures usually begin to drop somewhat.
It is also a productive time of the year since thisis when
farmers harvest some of their vegetables and fruit,
especially apples, which have finished their growing
Season.
September has thirty days. The major US holiday in
September is Labour Day. This holiday, which comes on
the first Monday of the month, isin honour of all people
who work. September the seventh is Brazil’ s Independence
Day and Chil€' sis the eighteenth. Armenia s Independence
19 Day is September the twenty-first.

© 00 N o O b~ W DN P

e e O e <
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1. Themainideafor paragraph 1 (lines 1-5) is

a) the name for September means “seven” becauseit isthe
seventh month of the year

6
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Thisisavery important contract. , We recommend
that you review it with alawyer.

a) Therefore

b) Despite

c) Whereas

d) Dueto

Xl. Ywpnw| wbpunmp L pOawptp pnulnwuynipjubp
hwiwwwwmwufuwbnn pwep:
Unwownpwbpny (nGupnygh wwwnwufuwbObpp uGpnnny)
unnigynid £ juwwwygdwéd  nbpunh  pnwlnuynipynilp
hwulwOwint 2ppwlGwywnpuinh Yupnnnipynilp: MGwp £ niwnhp
Ywnpnuwy inbGpuwnp L pGwnpb pnwlnwynipjwlp
hwiwwwwnwufuwbnn pwnp:
The world’ sfirst surviving photograph was taken in 1827 by a
Frenchman called Niepce. He pointed his camera at the window of
his country home and produced an image. It wasn’t very (1)
, but the image still survivesto this day.

a) certain

b) shiny

¢) smooth

d) clear
XIll. QG wybLnpn pwnp:

Unwownpwlpnid Obpwnwé GO nwpngwlwl Spwqnpnid
pGnanpyywé pLpwywlwlwb Ywplbnp Gpunyplbphg dh pwlhup:
WG hGwpwydnpnipyntd £ wmwihu npwlp uwnngbint wnwyby
wuithnth duny: UGhpwdtiwn £ Gwfuwnwunipjwb 0y qunlb L GG
wybinpn pwrep: Unwownpwlpp  Ywwwnpdntd £ plGupndh
wwwnwufuwbbbph dGpnnny:

John must have been gone downtown by train as his car wasin the
garage.

a) must

b) been

C) gone

d) the

15
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d) areas

10. Which of the following sentences does NOT reflect the
idea of the following sentence from the text:
Apple trees do best in areas that have very cold winters.

a) Apple trees grow better in the parts of the world that
are cold.

b) Very cold winters make apple trees grow better.

c) Cold winter areas are useful for apple trees.

d) Very cold winters can be harmful for apple trees.

X. LGwpb Gwhiwnwunipjw pnjwOnwynipjubp
hwiwwywwmwupuwbnn mwpptpwyp:

Unwownpwbpp hhdbqwé Lt hbGnlywp pbtpwlywbwywb
Goph - Jpw.  pwpn  (hwdwnwuwlwb L unnpunuuwyw)
GwfuwnwuntpynLGGtn, gl fuwynp L Gpypnpnwywa
Gwhuwnwuntp)ntGGtn, Gpypnpnwywl Gwfuwnwunipjwb wnhwbp,
2wnyuuwObp: Unniqyned G0 Gwfuwnwuncpjntlp inpwidwpwbnntl
L pLpwywlnptl Bhpun wywpunbint, pwnpn  unnpunwuwywa
Gwhuwnwuntp)ntGlGbpp  Shpin hwdwnpbine  2powlwywnuinp
hdwnnipntG0Gpp: Unwownpwlpp  Juwwwnpdnd  t o pwgdwyh
pGunpnipjwl dGpnnny’ GwhuwnwunipynLGGbpp dhon wywnunbpnt
L 2wnyuuwGGph dhown inGnwnpdwb dhongny:

! about the eight o’ clock flight
to London?’
“Not yet.”

a) Has been an announcement made
b) Has an announcement made

¢) Has an announcement been made
d) Has been made an announcement

14

qLU3IUSUUL bd ERBUSUYNPUUL yELSMPNL

b) the word September refers to the month’s place in the old
calendar

c) theLatinword “septem” istrandated into English as
13 %Ier‘l"

d) Julius Caesar, leader of Rome, made the seventh month
of the year longer

. Theword harvest in line 11 means

a) clean
b) grow
c) collect
d) sdl

. Theword major in line 14 means

a) free

b) important
C) proper
d) necessary

. September 18 is an important day in

a) Brazl
b) Chile
c) theUS
d) Armenia

. According to paragraph 3, (lines 14-19).

a) Labour Day is celebrated on the first Monday of every
month

b) Brazil and Chile celebrate Independence Day on the
same day

c) Brazil and Armenia celebrate some of their holidaysin
September

d) Chile became independent before Brazil
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Il. SEpunni pwg GO pnnGwd GuwiuwnwunicpntGGtp:
LpwgOb] wnbpunp’ wnbnwnpbiny hwiwwywwnwufuwb
GwfjuwnwunipniGp:

Unwownpwlpny (pGupndh wwuwwufuwbbbph dtpnnny)
unnigynid £ Juwwwygywéd  wnbpunh  pnulnuynipynilp
hwulywOwint 2ppwlwywpwnh Yupnnnipjnitbp: Ubhpwdtioun £ 8hown
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4. In genera, apples have the same

a) percentage of water
b) colour

C) size

d) taste

pGuwpt hwdwwnbpuwinhg nnipu GOwgwéd Gwfuwnwunip)nilp: 5. We may conclude that Mclntosh apples are

Edmund Hillary was the first man to stand on top of the highest a) smaller than Delicious apples

peak in the world. He was born in New Zealand and had no b) sweeter than Golden Delicious apples
experience with mountains until he was twenty. c) cheaper than most other kinds of apples
1 From then on he spent his holidays climbing. d) grown only in the United States

In 1950, Hillary went to England to meet mountain climbers and

climb with English mountaineers. 6. The main idea of paragraph 3 (lines 10-14) is

1. a) It wasthen that he became aworld expert overnight. a Delicious app_les aethe Iarges_t of all apples
b) That year he visited New Zealand's Mt. Cook National b)  apples havg ditferent colour, size and fla\(ogr
park, hired a guide and made the climb. C) the color, size and flavour of apples are similar
c) By that time he had already learnt how to climb. d) vinegar is made from only sour apples
d) Then he moved to New Zealand and devoted himself to
mountai neering.

7. Theword somewhat in line 11 means

a) somethings

M, IV, V wnwownpwlpGtph Uhongny,  pGupnyh b) moreor less

wwuwnwufuwbbtph  dGpnnny unnigynid G0 ppwlwywnuinp c) alot
dLwpwlwlwb ghintihpGbpp: d) not at all
Il wowownpwlpnid plngpyqwéd b hbnlywy pbpwlwbw- 8. The word sour inline 13 means
wa Gynepp. pwy. pwjh hpdOwywb dLbpp, YuwbnOwynp L wGlywGnb a) fresh
pwjtip, wlignnwywl L wlwGgnnuywh pwjtin, |hhdwuwn puw)bp, b) delicious
odwlnuwy pwjtin L pwj-hwbgnyg, pwjh dwdwOwybtpp (Present, €) not sweet

Past, Future, Future in the Past) L dwiwlwlwjhbt fudptipp
(Indefinite, Continuous, Perfect, Perfect Continuous), pwjh utinp
(the Active Voice, the Passive Voice), dwiwlwlGtph
hwiwdw)jltgnidp: Uynpp unnigyned £ hwdwwinbpuwnbiph dhongny,
hGsp Gwwuwnncd £ dhown pGupnipynih YuwnwntpniG: 8) metres
b) appletrees
c) cold winters

d) not wanted
9. The word they in line 15 stands for
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areas. The leading countries in apple production are the former
Soviet republics, the United States and France.

There are thousands of varieties of apples, but avery few
make up the majority of those grown for sale. The three most
common varieties grown in the United States are Delicious,
Golden Delicious, and Mclntosh.

Applesvary in colour, size and taste. The colour of the skin
may be red, green, or yellow. They vary somewhat in size, with
Delicious apples being among the largest. The flavour may be
sweet or sour. In general, sweet apples are eaten fresh while
tart apples are used to make applesauce and vinegar.

Apple trees may grow astall as twelve metres. They do best
in areas that have very cold winters. Although the tree does not
give any fruit during the winter, this cold period is useful for
the tree.

1. The author suggests that people like apples because they

a) taste good

b) arearound 85 percent water
c) have many varieties

d) grow in many areas

2. We may conclude from paragraph 1 (lines 1-5) that in the
former Soviet republics, the US, and France

a) more apples are grown than in other countries

b) fewer apples are grown than in other countries

c) apple production isthe same asin other countries
d) apple production is not developed

3. Most applesgrown for sale

a) come from many apple varieties
b) come from several apple varieties
Cc) aresweetintaste

d) are of the same color

12
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The dark grey cloudsfilled the sky rapidly as John was
walking home. The noise of the thunder (1) louder and
louder. In the distance, John saw his wife and children who (2)

the terrible noise and had run to the front door. As soon
as he reached them, John (3) them down to the storm
cellar where they waited impatiently for the storm to calm down.

1. d)isgetting b)wasgetting c) had gotten  d) gets
2. a) heard b) hear c) were hearing d) had heard
3.9 led b) lead c) wasleading d) had led

IV. LOwnpbl Gwuwnwunipjwl pnubnwuynipjubp
hwiwwwwwufuwbnn mwppbpwyp:

Unwownpwbpnid plnapyqwdéd bt hbGnlyw) pGpwlywlwywb
Gjnipp. pwyh wlnbd dutip (Infinitive, Gerund, Participle |, Participle
), qnuywb wGnilG. phd, hnind, wéwywlb wlnilG. wéwlwbh
hwiGdwwnipjwl  wuwmhdwlGbpp L npwlg  Ywginipjw
wnwOdbwhwuwnynipyntbGGtpp, hwibdwwnwywb Yuenigwéplbbn,
pywlwl wOnilb. pwlwlwlwl L nwuwywb pYwlwbGtn,
nGpwlnilG.  wOdbwywh, unwgwlwl, gnigwlwl, wbnpny,
npnyjwi, dfutnwlwb, hwpgwlwb, hwpwpbpwywb, wlnpwnwnd,
thnfuwnwpd, dwypw). dwypwih wnbuwlybbpp, hwitdwwnnipjwl
wuwnhdwbGtpp, yuqinipjwl wnwbdGwhwunynipjniGbbpp: Lineep
unnigynid £ Juwwwygwéd Ywpd Gpyrununipynbbtipng, hGsp
Owwuwnned £ dhown pGunpnipynih YwunwntipniG:

“What did you think of Frank’s new project?’
“The more we heard about it, we got.”
a) the most enthusiastic
b) more enthusiastic
c) enthusiastically
d) the more enthusiastic

V. CLOawpbp hwiwwmbpunhb hwiwwwwmwufuwnn dlp:

Unwownnpwbpnid plnapydwé b htimbyw) pipwlulwlwh
Gynipp. Gnwlwywynpnn pwjtin. hdwuwnGbplb ne gnpéwénpynilp
(can/could, may/might, must, hGswtu Gwl need, to be able to, to
have to, to be to, should, need, ought to), Gwfunhp. GwfunhpGtiph
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gnpéwoénipintGh punn hdwuwnh, hnn. wlnpn?, npnzjwy, gpn hnn:
Ujnipp unnnigynid £ thnpphy hwidwwnbpuwntpny hGsp Gwwuwnnid £
6hown phunpnipynil YwwnwpbniG:

A new robot has recently been developed by Sony. This robot

(D) dance to any music. (2) robot amost never falls
3 . It has the ability to talk, (4) a vocabulary of
60 000 words.

1.a) ableto  b) could C) may d) can

2.a) an b) --- c) the d) a

3.a) up b) down c) on d)in

4. a) to b) with C) at d) from

VI. CGuipbp hwiwwmbBpunhb hwiwwwwmwufuwlnn
funuphdwuwjhG dlp:

Unwownpwlpny (pOunpndh wywuwwufuwbGbph dGpnnny)
unncgyned £ 2ppwlwydwpinh pwnwghunwlwb  ghwntihpGtipp:
Pwnwlywqginipjnilb. wéwlgnd L pwnwpwpnned, wbqbptGh
wnwybp  wwpwéws  gnulwbwybpun, wéwlwbwybpwn,
pywywlwybpwn, dwypwjwybpwn, pwjwlywbd JGppwdwbglbtin L
Gwjuwdéwbglbp: Rwdwwnbpuwnp pGatnnLy L huinwy
YnndGnpnadGint hGwpwynpnip)ni:

In ancient Greece running had a special importance at the
opening event of the Olympics and was part of al public
games. (1) runners were greatly respected and received
the (2) rewards.

1. @) success b) successfully c) succeed d) successful
2. @) high b) highly c) highest d) height

VII. L26|, pt nunnuyh funuph thnfuwybpwdwb n°p
wnwppbpwyhb £ dhawn:

Unwownpwlpny (pGunpndh wywuwnwufuwbGbph dGpnnny)
unnigyntd £ ninnuiyh b wlninnuyh  funuph  Ywagdnipjwlb
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wnwOdGwhwwnynipntGGGpp Swlwsbnt 2nowlwywpwnp
Ywpnnnipynilp:

The teacher said, “Peter, bring a piece of chalk, please.”
a) The teacher asked Peter to bring a piece of chalk.
b) The teacher said Peter to bring a piece of chalk.
¢) The teacher told to Peter to bring a piece of chalk.
d) The teacher said that Peter had to bring a piece of chalk.

VIII. L6, pt htnlywp hwpgbphg npn®Gp GG pEpwlwbanpth
Ghwn:

Unwownpwlpnd (pOunpndh wywwunwufuwGbtph dtpnnny)
unnigyntd £ hwpgwlwl  Gwhuwnwunipynibbtiph wmpwtbpp
(General, Special, Alternative, Disjunctive) L npwlg
2uwpwnwuntpintlbp dwlwstint onpwlwydwpnnph YwnpnnnipjniOn:

Which of the following questionsis correctly formul ated?
a) Did hetell you where had landed the plane?
b) Did hetell you the plane haslanded where?
c) Did hetell you where has the plane landed?
d) Did hetell you where the plane had landed?

P dwlywpnuwy
IX. Ywpnwp nbpuwnp b ywwnwufuwbbp hwpgtpha® pGnptiny
Gh2n mwppbpwyp:

Unwownpwlpny (pGupndh wywuwufuwGGbph dGpnnny)
unncgynid £ oppwlwywnwnh Ynnohg gpwynp funuph pblywinidp:
COngpyywé hwngbipny uwnnigynid £ inbipuinh hhdGwywb dhunpp
L dwlpwiwubtpp Swlwsbing, Gwfuwnwunipjwl dhunpp L
pwnwwwwnp hwulwbwine, JGpwpbpwlwlp qulbGint  Gpw
ntGwynipynilp: LGpwndwdé GO OGwl GgpwhwlOgniilbp wGbpnt
hdwnnipynilp uinnignn hwpgbp:

Line number

1 For thousands of years, man has enjoyed the delicious taste
2 of apples. Apples, which are about 85 percent water, grow
3 amost everywhere in the world except the hottest and col dest
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